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Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name:

4,524 %

2,693 x

8,3 X

4,177 %

9,385 x

4,966 x

8,94 x

5,535 x

1,979 x

1,268 x

=45.24

=269.3

= 830

=417.7

= 938.5

= 4966

= 8940

=55.35

=19.79

= 12.68

4, 854 x

5,284 x

2, 44 x

Datum:

8, 688 x

1,338 x

9,97 x

4,654 x

8,497 x

7,237 x

7,004 x
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— 4854

=52.84

=244

= 86.88

= 1338

=997

=465.4

= 84.97

= 7237

=70.04

Ergebnis:
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Q’ g 9 ) % Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name: Datum: Ergebnis:
4,524 x 10 =45.24 4, 854 x 1000 = 4854
2,693 x 100 = 269.3 5,284 x 10 = 52.84
8,3 x 100 =830 2,44 x10=244
4,177 x 100 =417.7 8,688 x 10 = 86.88
9,385 x 100 = 938.5 1,338 x 1000 = 1338
4,966 x 1000 = 4966 9,97 x 100 =997
8,94 x 1000 = 8940 4,654 x 100 =465.4
5,535 x 10 =155.35 8,497 x 10 = 84.97
1,979 x 10 =19.79 7,237 x 1000 = 7237
1,268 x 10 = 12.68 7,004 x 10 = 70.04
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